1000/c 2do)/d(m_1 + m_2) [1/GeV]

|
<
w

Ratio to CMS

e I
o O QO
N w N

=
o

=
<
[N

|
<
N

[EEY

0.5

(m_1+m_2)/2[GeV]

7000 GeV pp Jets
%I’ L | L | L | T T T T Eﬂ
— -1 C
L Filtered Jet Mass(anti-kT(0.7), 2300<p <450, |y|<2.5) ?:%
= = b=
— =
— |-
= S A
— Jo
= E—hm
- =0
B 4%
L —{>
= =
= =%
[ — ™M
I N R
= H M
= 4 =
= — 0O
=4 =4
= ' m CMS 32
— —A— Pythia 6.428 370 =5
= --&-- Pythia 6.428 371 m oo
E- - ¥-- Pythia 6.428 372 =¢c
= --- Pythia 6.428 376 48
I 10
= =S
— —1 &
| - O
= | | e . HE
= —2
1
— 4 —0.5
| : 1 " 1
0



	Contents
	Page 1


